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350 =2x52x7
T 1+2+1=4
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600 = a* X b’ x ¢ B AJAFEND W, (a+b+c)x (x+y+2) 2
@2 (Fa<b<c)

@® 12 @ 24 ® 36 @ 48 @60

600 = 22 x 3x 52 = a* x b’ x ¢ O|B2
a=2,b=3,c=5 x=3,y=1,2=2
w(a+b+c)x(x+y+z) = (2+34+5)x(3+1+2) = 10x6 = 60
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360 =23 %x32x5
L34+2+1=6
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140 & AQ15HE3)6}H 140 = 22 x5 X 7
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792 & AJFESIH o' xb"x " °lth. a<b<c LW, a+b+c—
l—m—n 9 3= ot

792 =23 x 32 x 11 °|B 2
“a+b+c-l-m-n=2+3+11-3-2-1=10




6. 2160 & AJFEISIH a* x b xcFolth z<y<x € W, a+b+
c—(x+y+z) 9 F2?

® 1 ©OF ® 3 @ 4 ® 5

2160 = 24 x 33 x 50|22 g =2, b=3, c=5x=4,y =
3, z=10°|th
“a+b+c—(x+y+2)=2+3+5-(4+3+1)=10-8=2




216 = AQ15EaloH 29 x b¢ o]t}, o|uf, a + b + ¢ ©] ZF2?

© 7 @)9 ® 1 @ 13 ® 15

216 = 23 x 33
Ot a=3, b=3,c=3
a+b+c=9
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196 = 22 x 72
O a=2 b=T,m=2,m=2
a+b+m+n=13




2520 = a” X b1 x ¢" x d° 2 AR1T-EE ‘IH,aXp—Fqu—I—;—}—C;l
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2520 = 23 x 32 Xx5XT7=al xbi xc xd* O|BZ
a=2,b=3,¢c=5,d="17,
p=3,q=2,r=1,5s=1
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LaxXp+bxqg+ -+ —
"5 7
=2%X34+3%xX2+ -+ -

1 1
=6+6+5+7
=24
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126 =2x 32 X7 =d xb" x "
ca=2,b=3,c=71=1, m=2, n=1
ca+b+c-l-m-n=24+3+7-1-2-1=8




